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IMPORTANT | wEeayf :

Candidates have to do questions 31 to 99 EITHER from Part - Il (Mathematics and Science) OR from
part = 1l I (Social Studies / Social Science),

‘Wﬁmﬁi 790 Wﬁ?‘ﬂmn(mﬁmaf&mﬂww-m(mmxm
—

PART - 11/ 911 - 11

SOCIAL STUDIES / SOCIAL SCIENCE - ATIRTE aqas | v e

Direction i Answer the following questions by sclecting the correct/most appropriate options.

Frer : Wﬁ?ﬁm*mﬁ*ﬁqwﬁzﬂyﬁwﬁmgﬁq:
31. The Government has passed laws !{Hﬂ_‘] made it mandatory for organisations with more than
women employees to proyide creche facilities.

(1) 25 (2) 30 . (3) 10 @) 15

ST 8 L W 0 & 0 37 et o vt (s e st foe v e s
1 TE q fus &) ™~

(1) 25 @ 30 - 3) 10 (4) 15

32. The Indian National Congress in the early

: years raised a number of economic issues against the
British. Choose the correct option.

(i) The Congress declared that thf.%lj?rri'ﬁsh rule had led to poverty and famines.

(i) It demanded reduction of revenue and cut in military expenditure.

(i) Congress demanded more funds for irrigation.

(iv) It raised the voice against ente::‘_:tahmwnt tax.

(1)  Only (i), (ii) and (iii) are correct. (2)  Only (ii), (iii) and (iv) are correct

(3) Only (i) and (i) are correct (' (4) Only (ii) and (iii) are correct

afives e % ety Tefta i 3 S S faers ag wR s 3 wen ) vl vw w5
(i) mmmmﬁwﬂﬁrﬁﬂw%w%ﬁﬂﬂﬁaﬁwwﬁ%u

(i) 7 i Y, FoF o w F 9 A e @ S

(i) 53 fifamé ¥ ferq aifiren SR A0 A
(iv) 383 WARSA F & faers e 38 |

(1) = (i), (ii) U (iii) T & (2) A (ii), (i) T (iv) wE T
(3) ¥ (i) @ (ii) 7 &1 (4) I (i) T (i) wl F
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33.

Match the following columns and choose the appropriate option :

Sphere of the Earth Feature
(@) Lithosphere (i) Plant and Animal Kingdom
(®) Hydrosphere (i) Made up of rocks and minerals
()  Atmosphere (i) Various sources of water
(d) Biosphere (iv) Thin layerof Air  1()
(1) (@)-(ii), (b)-(iv), (<)), (d)-(ii) ™~
@) @-Gv). B)-G), (c)-i), (d)-(iii) L)
@) @-G), (b)-(i), (c)-(ii), (d)-(iv) I
@) (@)-(i), (o)-(id), (c)-(iv). (d)-() OO
Trfafen § § wé szl o foam @i - (-
(a) wuEHEw () Y TE S-Sy
) werEw () @ Tl @ o
(c) =rHE= (i) = ¥ faf= e
(d) Starza (iv) I gaE T

(1) @)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
(2)  (@)-(iv), (b)-(i). (0)-Gi), (d)-(iii)
() (@)-(i), (®)-(id). (0)-(iii), (d)-(iv)
(a)-(i1), (b)-(iit), (C)-(iv), (d)-(i)

Lo
P

of the following 15 true about Ashoka's dhamma 7
It did not invaolve worship of a god. Ca)
(b) = It did not involve performance of a sacrifice. D)
“The ideas of dhumma were inspired by the teachings of Buddha.

(d) Ashoka appointed Buddhist monks to teach people about
Choose the correct option :

(1) Only (b) and (c) (2)  Only (a); (b)and (c)
(3) All (@), (b). () and (d) (4) Only (a) and (b)
frefafaa % Q3 o w9 ¥ gy fawa 8 d 2000

(a) w99 fFE Jaa N Ton F AEvEET E o

divmmmn.

(b) == o =it Friwis 3 smavaEm 9 ot g

() = faer 5% ¥ v @ i A 0

(d) il = T e 32 F R eneiv 3 g fuegsii &1 P =
T fawew =1 971 %4 QO

(1) % (b) 7 (o) @ % (a), (by 0 (o)
(3) (@), (®), (c) T (d) Tt (4) Faa (a) T4 (b)
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35.

36.

37.

Below are two statements (A) and (B) in the context of leather workers in 19 century.
(A) During the First World War there was a huge demand for shoes for the armies.

(B) The poor people from ordinary castes saw this as an opportunity and were ready to supply
shoes for the army.

Choose the correct option :

(1) (A)is true but (B) is false () (2) (A) is false but (B) is true

(3) Both (A} and (B) are true (D (4) Both (A) and (B) are false
ﬁ@lmm}ﬁnm)lgﬁmﬁﬂ:ﬁ:ﬁn%wmaﬂ%wﬁ%#ﬂﬁﬁl

(A) e P % 3 2 8 3 R ) e i e @ E o

(8) mmamm%ﬁmﬁmmwmﬁwﬂmmam

TR ey F1 =EH F+
(1) (A) 7@ Z = (B) Tom # (2) (A) e & e (B) T ¥
(3) (A) ¥R (B) 5 Wl ¥ @)  (A) 3R (B) 3 e ¥

The Mughal revenue system wiw own schedule of revenue rates for individual crop was
called :

Qo
(1) Zat (2 Iqta () (3) Jagir (4) Zabt
el o e e T e S0, Tera T ot e A ol e §
(1) =m @ (5 (3) Wik (4) =
“‘\I

The rocks that were formed 300 nmn years after the earth was formed, is :
(1) located in Eastern Europe

(2) located in the Himalayan region

(3) considered as youngest rocks in the world

(4) located in Western Australia

qﬁraﬁﬂﬁﬂﬂﬁ,ﬁlqa&#ﬁﬂv@umﬁmﬁi:
(1) & 7 & feora & -
(2) femrera 4= & fega € %
(3) fava #t 7eram def At )]
(4) oyt srgfera 4 fem § a
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38. Match the following concepts in Column - I with their examples in Column - Il and choose the
appropriate option :

Column - I Column - I
Concepts Examplels
(a) Discrimination (i)l [ Differential pay for same work
(b)  Inequality (i)~ Villagers are superstitious
(c) Stereotype (iii) -~ Woman not allowed to be hired since she is starting a family

(d)  Prejudice (v} Girls are good at cooking
(1) (@)-(iv), (b)-(iii), (c)-(i). (d)-(ii) - -

(2)  (a)-(iii), (b)-(i), ()-(iv), (d)-Gii) -

() (a)-(iid), b)-(i), (c)-(ii), (d)-(iv)

(4)  (@)-(iv). (b)-(ii), (c)-(i), (d)-(iii)

m-rﬁﬁmﬁf@amaﬁaﬁﬁuiuﬁmmmmﬁﬁ@mﬁmdﬁmﬂmﬁm
\|Y -1 WY - 11
Heheqamd SR

(a) Vv () R FE F fou sem 399

(b)  SFHEE (i) THERER sHufavErd §

(c) wfe=fam (i) wﬁm‘%ﬁﬁwaﬂmﬂqﬁmﬁ%mﬁhﬁwﬁmwm@%}w

MR
(d) gEumon (iv) wrSfoRal @ T e T § e E

(1) @)-(iv), (b)-(iii), ()-(i). (d)-(ii) Y
(2)  (@)-(ii), (b)-(3), ()-(iv), (d)-(ii) ¢
() (@)-(ii), (b)-(3), ()(ii), (d)-(iv) _
(@) (@)-(iv), ®)-(ii), (©)-(i), (d)-(iii)

39. Which of the following is/are correctly matched ?
Crop Required Climatic Condition
(a) Coffee - Cool and dry climate
(b) Tea - Warm climate and high rainfall
Choose the correct option :
(1)  Both (a) and (b) (2) Neither (a) nor (b)

(3) Only (a) -\ {4) Only (b)
P 5 3 20wy FR-3 g = gafea 8%

FHA HAAYTE: Feararay 9
() 7w - F9 s e e
(b) =M - T Sear s ge A
HE faFes F:1 w7 Fifau
(1) (a) 991 (b) 2141 (2) 3 A (a) 3T E (b)
(3) Fad (a) (4) Faa (b)
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e category ‘erstwhile pri .
40. Th b Princely sigtocq was applicable :
(1) in the post-1956 whep they 4
Vere no longer retained as administrative units.

(2) to none as no such f'iILhUT\ existed in India.

(3) at the time of Inde ‘Pendence around 1947-45 only.

(4) between 1947-48 and 1956 ).,
Cagd foamEa’ Ao Ty o

(1) wﬁﬁﬁﬁmmaﬁ‘ﬁmﬁmmmmqqﬁmmmwr
) ﬁmwﬁqﬁfwﬁawﬂnmmmﬁmwmi

(3) TEOAG F HAEA FHaw 194748 F % oqm |

(4) 1947-48 3 1956 F g

N they were recopnised as administrative units

atch the following i » , |
41. M wing in the context of people and objects in ancient imes and choose the appropriate

option.
A B
(a) Barygaza (i) Stamped red-glazed pottery
(b) Shrenis (i)  Bharuch
(c) Arretine ware (i) Independent farmers
(d) Grihapatis (1v)  Associations of crafts persons and merchants

(1) (a)-(iv), (b)-(iii), (c)-(1), (d)-(ii)
(2)  (a)-(i), (b)-(i1), (c)-(iv), (d)-(iii)
(3)  (a)-(i1), (b)-(iv), (c)-(i). (d)-(iii)
(4)  (a)-(ii), (b)-(iv), (c)-(iii), (d)-(i)
st H =t 3 A ded d frafatas 1 fwes Fife 5w 3w fawes . g st

A B
(a) =fman (i) T A -AEER A
(b) @it (i) &A
(c) TERER A (iii) ¥ FIF
(d) TEafa (iv) Foreaanl S % iy

(1) (a)-(iv), (b)-(iii), (c)-(i), (d)-(iD)
(2)  (a)-(i), (b)-(ii), (c)-(iv). ()-(itD)
(3)  (a)-(ii), (b)-(iv), (©)-(i) (c)-(i)
(4)  (a)-(ii), (b)-(iv), (€)-(111), (d)-(1)
39
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- i r . i o in Ch{)i(‘ 5
"1 xl(.'hat‘ﬂl“giqlq !‘lﬂ‘r’ an il'IlFIL'lIIHI'Il rﬂIE un 1 lng h]SIﬂ )"- w I h one D[ th'E I:C‘[.I. g e
2. I3 ] b ) ) ) P CT I ]"| [ W
i."‘-' in'-‘“rrﬂft i:'lhﬂut I.hl.!" n;ltur(‘ Df W HII‘: .:

) Look for bones of animals, birds and fish

(
(2) Examine the written records
(3)  Study the remains of buildings, paintings and sculpture

(4)  Explore and excavate tools, weapons, put&,pan, elc.

mﬁwmww;mﬁmwwmm% frerfefan & § w7
FH T W F ARG B W 5 Q)

o —

() St oo, woferd 3 o g

(2) fofEn amnf (erdi) 53 sig

(3) v, fel (g ) W& T F st sy

(4) aﬂmﬁ.ﬁw.aﬂﬁ,ﬁﬂ,aﬂﬁaﬁm%mw-ﬁ?ﬁﬂw
43. The opening time of Central Government Off

time of opening of the Central Gove
and 92°45' East Longitude

ices.in India is 9:00 a.m.
rmment Offices located at 80° Ea
near Itanagar, respectively :

IST, what will be the local
st Longitude near Chennai

(1) 08:50 a.m. and 09:41 a.m. respectively
(2)  09:41 a.m. and 08:50 .M. respectively
(3) 0910 a.m. and 08:19 a.m., respectively
(3)  08:19 a.m. and 09:10 a.m. respectively

Wﬁ%ﬁnmmﬁ:qﬁmmwiﬁmma@m{mmwma“rr}qﬁm
ma,g[]ﬂqé&wmammﬁ;qmgzu45|qﬁm%mﬂf@mmmm?ﬁ#ﬁﬁ?ﬂ
wﬁmmm:wﬁm?

(1) m:w%umsuaﬁamw%uqmﬁ
(2) m:m#mﬂwﬁww%m:snﬁ
(3) m:ﬂ?ﬁﬁ?m:mﬂﬁﬂmwﬁmg;wﬂ

(4) 99 g% F 08:19 73 9 Waw F 9.1 4

K
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44.

45.

46.

\Women were taught at home in nineteenth century colonial India because :
(a) they could study as well as do domestic dulies.

(b) people believed that going out in public places would corrupt them.

(c) people wanted to hide the fact of their education from relatives and friends.
Choose the correct option :

(1)  (b) and (c) (2) (a), (M) and () (3) (a)and (b) (4)
SHIgEt w1 F ity § iR | w # ve s @ w6
(a) @ VEE % WY-HY G W i =)

(b) T HAA ¥ o e A W S @ fare s

(c) o v Helferdi wd firsli & a1 fnen % qon g wed 4
 fawen 1 9mm =1

(a) and (c)

M OM @ @OF(QG-E @ME @ @@

Which one of the following is not correct for grama-bhojaka ?
(1)  The king often used him to collect taxes from the village.
(2) He did not function as a Judge and policeman.

(3)  Usually, men from the same family held the position for generations.
(4) He had slaves and hired workers to cultivate the land.

Frefafes 3 @ =0 @ mm-des ¥ fov s =& §2

(1) 7T 1 FT T W A T T A H 2R A

(2) A= SR gfer w1 wm T

(3) TR U F 9ER % @M TE v W FE i aw o w9
(4) T A W 2 SR A FHEN )

Below are two statements (A) and (B) in the context of Shri Narayan Guru.
(A) He advocated equality of all within a single sect or caste.

(B) He inspired all of them to have faith in all gurus.

Choose the correct option :

(1)  (A) is true but (B) is false (2)  (A) is false but (B) is true

(3) Both (A) and (B) are true (4) Both (A) and (B) are false

9 2 FA (A) R (B) A AW T F Hed # ¥
(A) T AR T AAE F TF @ @
(B) == =l &1 =t i 1 favam vaR % fau Sfa fam
Wit faeq 1 =77 #i |

(1) (A) @ T afe (B) Tem 2 (2) () TR ® R () w3
(3) (A) ¥ (B) 2 w1 ¥ (4) - (A) 3 (B) 2 e

RSV TR T -



47. Match the following pairs and choose the appropriate option ;
Bocks Originfformation

(@) Ipneous Rocks () Change undet_great heat and pressure
(b)  Sedimentary Rocks (i) Molten Magma
(€} Metamorphic Roche (1) Heposition by wind and water
Choose the correct ophion :
() a)-(wi), (b)), (o)-(ii)
(2)  fa)(i), (b)-(iii), (c)-(ii)
(3) (@), (b)-(ii), (0)-(iii)
() @), (0)-Giii), ()-i)
ﬁ%wmmﬁmﬁnmﬁmmmm=

e wafsy/Frator r._.-'l.
(@) =7 ¥ (i) mmmm%mmﬁaﬁrm?
(b)  FFuE = (ii) =faq Fmy _ |
(c) Frrafm dm

(Hi) #0375 anfr % 2

e Wmﬁqﬁmmw@’ . o1 F1 faw
EIC]

| ]

R fawey #1 wo w

(1) (a)-(iii), (b)-(i), (c)-(ii)
) (@)-(), (b)-(ii), (c)-(i)
(3)  (@)-(i), (b)-(i), (c)-(iii)
(4)  (a)-(ii), (b)-(ii), (c)-(i)

48. Which layer of the atmosphere has very

thin layer.of air ?
(I} Stratosphere (2 Mesosphere (3 Thermosphere (4)  Exosphere

mqq’gaaﬁmmﬁmqaﬁmwaﬁmﬁwﬁt?

. " i_"\fr"f
(1) HYAMN Heo (2) WvEe (3) AW arpEa (0 e

K
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49.

50.

A ulati ramid wi
pop On pyramid with big base and skinny top shows :

(a) High birth rates
ﬂ‘r} High death rates in hig]'l{.‘l' age g up
o i '; ()

{ ) R‘E[E‘IHVEIT Il.]l gu LH[I I ol v 1 ] al“!"
n I.‘H.' !

(d) Large number of deaths of infants Lo
Choose the correct option : P
“} Dn_l}r (h::l, f{') and (d‘_l (2) O v a), (L} and (d]
(3) Only (a) and (b) (4) Dn{g@] (b) and (¢)
u TS SR 3N ael S aren s frofirs adEe
(a) F=ATH X CO
: @)
(b) TS HY T H I FY ’
(c) Toras ¥4 H A A1 sEEA
() foge § geg F sfiw o/ HE
& faweq 1 77 HL)
(1) FF9 (b), (c) 7 (d) (2) FEIQ@), () T (D)
(3) Fad (a) 991 (b) ) ﬂw'ﬁ:@) (b) &1 (c)

Consider the following sentences (A) and (B) aboytymotions of t
option : —
P fan]
(A) Rotation is the movement of the earth on 1§ AXIS.
is an imagina@_l'r"'nu, makes an angle of 3?--1,5' with its orbital

he Earth and choose the correct

(B) The axis of the Earth which
plane.

Choose the correct option :

(1) Both (A) and (B) are correct

(3) Only (A) is correct

(2) Both (A) and (B) are incorrect
(4) Only (B} is correct
Wmﬁ(aiﬂgtﬂlmﬁﬂﬂﬁamuaﬁm 1 TqAE T

el # ferdi % A A fw

(A) gﬁmmﬁmmmqmqﬁﬂwﬁl I’*‘T-_

(B) qraﬁmraaama;a;ﬁqﬁﬂﬁm%.ﬁmﬁm@ﬁazﬁnz%ﬂ-ﬂmm%l
w1 7 00

(1) 3 (A) T (B) T # (2) ?"ig(ﬁlﬂm{ﬂ}wﬁ

(3) Fad (A) T E (1) FIAB) FEIE

43

P10 I



i ent in temple
I the following statements is/are true about technuinglcal developm
51. Which o the tollow : ‘

construction from the twelfth contun s carlE Yy ik

wei he superstruchiore was o . ! )
{;;:; ;hL i“tugh;?iillwi mlFI~ tone chips was mercasingly used in constructon,
{ dandstone - sl

5 reorrect oplion |
ﬁl;m.‘:(‘tlll.:_[;} ﬂ.::l.ll ;I"‘Ej e v | |_‘:| I ith I‘lj a “d (b) afe incorrect
(3)  Only (a) is correct () Only (b} is correct
5 ¥l

(a) ﬁtﬁmmmﬁmﬁmmﬁmmmi ‘
(b) Wﬁwm—waw%ﬁﬁf#ﬁmﬂﬂﬁﬁﬁmmﬁmt

W& fadow &1 w79 =3
(D) (a) 3 (b) 2wt & @) (@) 3 (b) 2 w3

(3) %99 (a) T 3 (4) 9 (b) T &

52. Who among th
the British rule

(1)  Mahatma Gandhj (2)
(3)  Jyotirao Phule

¢ following edited newspaper Kesari which became on
?

Lala Lajpat Raj
(4) Balgangadhar Tijak
93 FH Wmm,%ﬂﬁﬁmmﬁmmmmw o,

(1) =& mivy (2) e T T
() =ifrre w3

53.  Which of the following
(b) People practice ‘slas

(€)  People mainly grow
(d)  Aircrafts and helicop

h and bum’ agriculture,
paddy.,
lers are also used for re

aching varioyg Places in the basin,
Choose the correct option :

(1) Only (a), (€) and (d) (2)  Only (a), (b) and (d)

(3)  Only (a), (b) and (c)

(4)  Only (b), () ang (d)
mmmmﬁﬁqﬁwﬁﬁﬁﬁﬂmﬁww%?

(a) %ﬂﬂﬁﬁ#ﬁmmmﬁm
(b) aﬁﬁm'ﬁaam'%ﬁm*
(©) AN qZmR: g a3,

() A 5 T o o iy

(1) %4 (a), () 7 (d)

(2)  FE@ (a), (b) 791 ()
(3) ¥4 (a), (b) 7w (c)

() FEA (b), (c) @#M (d)
St L TTTTTT TN 4

.

e of the strongest critics of



54. In a physical ma o
y p of India if you have to locate the Deccan Plateau, it will be represented by the

colour :

(I) green (2) yellow (3) orange (4) brown

e ¥ e TrAfas H afg s < ¥ ven F) gear € A, 7 TR < & gufar T Em 2
(1 (2) e (3) T (4) @

'

55. Choose the measures to control soil erosion and depletion from the following,
(a) Mulching ©) Over grazing,
(c) Terrace farming (d) Inter crol:iﬁiftg

Choose the correct option :

(1) (@) (®). (d) only (2) (®). (). (d) only

(3) (@), (b). (c) only (4) (@) (). (d) only
ﬁﬂﬁfﬁﬂﬁﬂwmaﬁ&ﬁwaﬁﬁ#ﬁmmﬁﬁimﬂwaﬁml
(a) ¥ T o) o

() dfea wH (d) = T EEA S

@ fasea 1 997 FL | |

1) Faa (a), (b) (d) (2) Fad (b), (). (d)

@) ¥ (), () (©) (4) Fad (a), () (d)

asE, ‘Uﬂj.t}' in Di‘rersi[}p' ?

56. Who coined the phr
(2) Sardar Vallabh Bhai Patel

(1) Subhash Chandra Bose
(3) Pt Jawaharlal Nehru (4) Mohandas Karamchand Gandhi

'ﬁﬁ'mﬁw’gmaﬂﬁﬂﬁﬁm?

(1) 7w =z 98 A (2) WEH deeMHTE Ted A

() T FEER T

.

(3) dfed SETETEE FEE 1

P-IT (NN ®
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57.  Consider the statements (A) and (B) about Paramountcy and choose the correct an

(A)  The Company claimed that s authorily was not supreme.

(B)  In order to protect ¢ bt wvas justified in annexing or threatening to annexe
any Indian ko

(1) (A)is true bur (14 L) s Lalse but (B) is true

(3)  Both (A) and (1) . 11 Both (A) and (B) are false

(A) 31T (B) el wz w0 5 s 11 foymme FITT 50 921 39 51 97 FiIfem |

(A) =9 3 = faan T 30 ATIFT g T o1

(B) Wfﬂﬁfﬁm%fﬁﬁﬁﬂﬂ?ﬂﬂ%ﬂ&f@gﬂmmmmﬁmﬁ MO 29
APTER FO W9 9w o

() (A) 78 2 S (B) 7em 2 (2)  (A) e F AfFs (B) w3
(3)  (A) 7 (B) =i =& & (4). (A) # (B) 21 7@ #)
58. Consider the following statements about l;éd;:kh and choose the correct option.
(a)  Several rivers flow through Ladakh-
(b)  Due to high altitude, the climate is.extremely cold.
(c)  Despite being in the rain shadow of -Himalayﬂ.s, there is high rainfall,

(d)  This area experiences f reezing winds and burning hot sunlight,

(1) Only (b), (c) and (d) are correct  (2) Only (a), (b) and (d) are correct

(3)  Only (a) and (b) are correct (4)  Only (a), (b) and (c) are correct
m%ﬁﬁﬁqwﬁmmvfﬁwaﬂfmﬂmw&mmwﬁﬁm
(a) TIE A T A w6 A A #

(b) 3T I &3 3 wom 1l #) Sy St S 3

(©) m%mwmﬁﬁamwﬁmmmmh

(d) % 803 WA TN A ot SHer A A A s 2

(1) 4 (b), (c) a4 (d) 7A # | (2) e (a), (b) a1 (d) w1 F

(3) &4 (a) 91 (b) W | (4)  FAE (a), (b) T (c) T &)
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59.

60.

61.

P11 WM

Consider th iven s

{ ;n,ﬂ-]-i; “.E l;Wn gn:m btat-{ments (A) and (R) and choose the appropriate option :
o o se places West of Greenwich will be behind of Greenwich time. |
(R) : 1'3_531‘111 rotates from ¢ast to west and sun rises carly in castern sid
(1) (A) is true and (R) is false o arly T s AR
(2) Both (A) and (R) are false

[i] gﬂi (A) and (R) are true and (R) is the correct explanation of (A)

(4) bBo {:ﬂ and (R) are true but (R) is not the correct explanation of (A)
fau T FYA (A) TN (R) W Fran @i qon we fawed # e Fie

(A) : SN e Tt & wfvem € 3 T it 8w

(R) : 9ot qd @ fem F 3 e e § g gd e A el 3 e
(1) (A) ®&l & a1 (R) e 2

(2) 2 (A) T (R) T

(3) EfFI"f[A}Hﬂ[ﬂ]ﬂﬁ%ﬁmm],m]ﬂaﬁm?l

4) Eﬁf{mw{maﬁifaﬂm,mmmmﬂﬂﬁ%l

Watan Jagirs were given by Akbar to which of the following chiefs ?

(1) Sisodiya Rajputs (2) Indian Muslims
(3) Sikhs (4) Marathas
mﬁﬁmﬁﬁaﬂﬁ%ﬁﬂmﬁﬁwmﬂiﬁm o1 7

(1) gt =g (2) wEHE TR
(3) fa=d (4) T

A well-designed portfolio assessment in social sciences should be :

(a) purposeful and systematic

(b) reflect regular assignments and
(c) focus mainly on the preparation 0
(d) accumulation of student’s work over a
Choose the correct option :
(1) (a), () and ()

(3) (a), (b)and ()

activities of student
f report card
long period of time

(2) (a) (b) and (d)
(4)  (b). () and (d)

Wﬁmﬁﬁmﬁﬂmﬁﬁﬁmﬁmgﬁtﬁéﬁmaﬁ :
(a) Wﬁaﬂf@mmmﬁﬁl

(b) famaﬁaﬁufqaanﬁanfaﬁﬁqﬁfaﬁwhmfsﬁu

() qmﬂ:ﬁémmmmﬁmmﬁm

(d) ﬁmvﬂﬁ;mﬂmﬂ%mﬁmﬁWEﬁm

w# fawea & a1 F

(2) (a), (b) °90 (d)

(1) (a), (c) 341 (d)
) (b), () T4 (d)

(3)  (a), (b) 741 (c)
47



62.  Project method in Social Sciences involves

(@)  Activity (b) Discussion
(c)  Experiment L. (d) Narration

Choose the correct option :

(1) (a) and (b) only ; (2)  (c) and (d) only
(3) (a), (b) and (c) ( (4) (a), () and (d)
wwifseh faam & wfeism wgfa dwfwa g )

(a) ifafafy . b)

(c) s (d) =viA

WE fasheq & =79 w4

(1) 9 (a) 721 (b) (2) AW (c) 991 (d)
() (a), (b) & (c) @ (@) () (d)

63. Consider the following statements and choose the correct option.

Statement (A) : Investment in non-farm activities in rural areas can reduce the rural urban
migration.

Statement (R) : Migration increases during particular season when there are

ST no agricultural
activities in rural areas.

(1) (A) is true but (R) is false—

(2) Both (A) and (R) are false

(3)  Both (A) and (R) are true and (R) is the correct explanation of (A)
(4) Both (A) and (R) are true

but (R) is not the correct explanation of (A)

frerfafad FerAi vt faar i sl 7 fawe 9fm

(1) (A) = & 0 (R) Term &1

(2)  (A) #(R) H 7T ¥

(3) Iﬁ]miﬂlﬁﬂﬂﬁﬁaﬂi(ﬂ”ﬁ{mnﬁ .

1) (A) m‘{[mﬁﬁfﬂﬁ%ﬁfmwﬁ{m o — F p—
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64. Which of the fﬂllawing
(a)  What are

(b) How are
studies ?

naﬁmmqu%l.mm assess the analytical aspect of the cognitive process ?
meth l| curricular objectives which can be achieved through heritage projects ?
¥ g ]
ds of history useful in the research of (a) science; (b) art and management

(¢) In how manv regional | ‘ i ;
are broadcasted ? anguages and local dialects “VividhBharati L e

d "aﬂh‘ i L1Z] . b
(d) rite a review on two historical serials you have watched.

e)  What are 3 .
i: } at are Bharuds ? I which mgs'un f State this is Fupulnr 7
Choose the correct option ;

(1) (a), (b) and (d) only (2) (c) and (e) onl'

(3) (a) {i_*Jf (c) and (d) only - (4) (b), (c), (d)and ) only

Frefafes § 9 F7-7 w1 dammr e % faverunes s 71 siiFd & 7

(a) :;@qwﬁwwfﬁﬂﬁuﬂm#ﬁﬁmﬁwmﬁmﬂﬁﬂ(“ﬁmmmm
(b) 3feers %1 fafera () fasm; (b) Fen v wevm sl & iy § $9 5o € 2

() ‘Tafaaumd’ SR #) e dnit v we v e § yERa ST a?

(d) =T g1 3@ U @ fvafae et WA fafEw)

() vEzEn¥? frg /g § TEeEg &7

ot faFeu =1 977 F1 |
(1) = (a), (b) 3 (d) (2) FAA (c) I (e)
(3) F=4 (a), (b), () # (d) @) F=E (b), (o), (d) W (e)

65. Read the Assertion (A) and Reason (R) statements and choose the correct option.
Students should be encouraged to ask questions in the classroom.

It will help the introvert students to open up.

Assertion (A) :
Reason (R) :
(1)  (A) is true but (R) is false.

(2) Both (A) and (R) are false.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A)

(4) Both (A) and (R) are true but (R) is not the correct explanaticn 1 (A)
W{A]mﬁ;n)ﬂqﬁuﬂmnﬁﬁﬁqmwmr

sfura (A) : Fepenfefaii =1 Al H ¥ YA 2 Wreted fhan s e
% (R) : azafa@aﬁﬁmrﬂﬁf.ﬂqaﬁﬁmm,

(1) (A) T & A (R) T E

(2)  (A) 3T (R) ari T 2

(3) wammﬁuﬂ%aimmaﬁtmwﬁmmg.

(4) (A) s (R) Fl wE A (A) F (R) T T T Fn g

TR L s L e K
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67.

68.

Which of the following may be acquired by learners in a project work that involves engaging,
students in authentic, real-world problem-solving, tasks ?

(1)  Enhancement of creativity and innovation

(2) Promotion of collaboration and team work

(3) Development of critical thinking skills

(4) Improvement of content knowledge and skills

f= & P e e sl ford 2 1 W, arfas gf w1 aen- g & g S fE
1 Wl € 7

(1) TR 3R TotTa 6 3 |

(2) WEA 3R T °F w1 AwwE T

(3) HWEEAIEE €@ Five # few

(4) Toodl 3m i Fre G qun

The ideas of Liberty, Equality and Fraternity of the Indian Constitution are borrowed from

(1) Russian Revolution (2) Magna Carta

(3) American Revolution (4) French Revolution

Y WiayE | s, saEm A aym Ffeem e e
(1) =W #FfaA (2) Fn et |

(3) ¥ wifa | (4) wirEE il |

iy

Which of the following are essential elements of a :f-éh: trial ?
(a) The trial is held in an open court. —

(b) A copy of charge sheet and all other Lwdence Ilmt the prosecution presents to the court are
given to the accused. .

() The defence lawyer is not allowed to cross-examine the prosecution witnesses.

(d) Judpes decide the matter on the basis of the statements articulated by lawyers.

Choose the correct option :

(1) Only (a), (b) and (d) 2) Only (b), (¢) and (d)

(3)  All (a), (b), (c) and (d) (4) Only (a), (b) and (c)

fqer 5 9 FA-3 faweq fogy gAarE F Jena 7@ § 2

(a) T A F A GER O H Al S § |

(b) ARM-TA 3 AfvriEa 9e g e Ry T ad e 1wt S & et )

(c) @ el & Fwiel 1 AT A AR A T i T wn e | e S0 @ e 1w e
(4

(d) AT e & WA FERie g qunrgmw‘ﬁ AR T T w0 ¥

ad faseq 1 999 Hi| .

(1) 9 (a), (b) 341 (d) (2) FAA(b), (c) 79 (d)

@) (a), (b), () T (d) WA (4) %94 (a), (b) T ()

p-1r IR 50 *




69.

70.

71.

Which of the following technique is most effective to assess individual performance of a student
working in group task ?

(a) Rubrics (b) Multiple Choice Question

(¢) Presentation (d) Portfolio

Choose the correct option :

(1)  (c) and (d) (2) (a) and (d) (3) (a) and (b) (4) (b) and (c)

ﬁﬂﬁiﬁﬁﬁﬁﬂﬂq—ﬁqﬁhﬁﬁﬁaﬂmmmmﬁﬁéﬁ—éﬁﬂﬁﬁﬂWEF{I%Z"IS%'{
B 1 ST~ IONT e S 6 7

(a) wAfEH (7 (b)  FefawedE v

(©) s wedie (d) TR

|E faFeT =1 =999 F4)

(1) () a9 (d) (2) (a) 9= (d) (3) (a) @™ (b) (4) (b)F ()

Which region in India has the highest concentration of Adivasi communities ?
(1) East India (2) West India (3) North India  (4) South India
vRd ¥ RO a9 § enfearl aqedi i geAa gan sfas e 2

(1) Yo 9Rad (2) fyem (3) I uRA H (4) =feor ya 8

Which one of the following statements accurately reflects the concept of plurality in social science
curriculum ? Choose the correct option :

(1)  Exclusion of certain perspectives from social science
(2) Use of complex language in social science curricular materials

(3) Dominance of a single ideology
(4)  Inclusion of multiple perspectives and diverse view points

At faam TeT=dl § shiee F1 G5eg 1 HefaiEs § | -9 F99 99l 4 e 22 9@
faweq =1 9973 =1

(1) wmfaF faam | 52 v F e
(2) wmfse faam ser=g g § Ffaq a5 33Em
(3) uFe fammam = wgE

(4) 1 fteedi ofn fafay e &1 wf@miem w5
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Consider the statements (A) and (B) and choose the correct option :
(A)  The natural sciences are superior to social sciences and are the domain of bright students

(B)  The social sciences are essential to provide social, cultural and analytical skills required ¢
i z g i ot 0
adjust to an increasingly independent world,

(1) (A) is true but (B) is false (2)  (A) is false but (B) is true

(3)  Both (A) and (B) are true (4) Both (A)and (B) are false

FUA (A) @i (B) W famm wifaw siv wd fawe 9@ |

(A) wrfa faam amfse faam 4 4 ¥ 3R 78 e en faafe i 5 &9 2

(B) wrifoes faam wrnfers, miegptam i faveruit Hve 1 9eH F11 % o0 SmEvrd 5 s
w7 fava § A= 42r * fou savas 2 _

(1) (A) == 2 fH= (B) 181 © (2) (A) A5 & g (B) 94 @

(3)  (A) = (B) = 9 & (4)  (A) ¥ (B) ZFi @w F

73. Involving teachers is considered important in the development of social science assessment
framework to :

(a) integrate contemporary events and prevailing changes.

(b)  make curriculum and evaluation only subject-centered and to linut its scope.

(c) save time, labor and money by using teachers only as a resource.

(d) make necessary changes according to the level of teachers by using the experiences of teachers.
Choose the correct option : |

(1) (a), (b) and (c) only (2) (a) and (b) only

(3)  Only (a) (4) () and (d) only

At fasm & et v F fain o foeml #1 rier seeret e s

(a) WEHAMAF T SN gEfen wfEdA ) gaesien 31 F forg

(b) T R GeAiFA F Fae fawa Fiza @9 e eaEa & e w1 i w9 F fo
(c) Fam foerdl &1 U WA F F9 0 el 7 9HE, g9 3017 U9 F g9d ®E & o)
() fogE F AAvE F TEAE F g fuei F wRE sEed ey oiEd S0 F e
wt fawea #1997 FL

(1) %4 (a), (b) 3 (c) (2) FEE (a) 3 (b)

(3) Ha4 (a) (4)  FaE (a) 30 (d)
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74.

75.

Consider the fﬂllnwing statements A : : :
: ssert . R sJat t 5 i X :
Science and choose the correct uplinn.ﬂ fon [A) and ReaséTORE feston o U fattaeof Soctel

Assertion (A) : :TIE S_D':iEII sciences have developed their own distinct methods for dealing, with
acts in an objective and syslematic way.

Reason {R} ; Uﬂhkﬁ the nﬂml‘:hll;_ﬂ:(;iun[_'eg_ inSocial Science itis ch:ffu:ult to insulate the observation
and analysis of facts from the pressures of popular sentiment.
(1)  Only (A} is true @e

(2) Only (R) is true —_—

(3)  Both (A) and (R) are true u%:i-ik} is the correct explanation of (A)

(4)  Both (A) and (R) are true but'(R) is not the correct explanation of (A)

Ao faam R Wt ¥ ey FeferEs s s (A) AR (R) 7 faem Ffa o =@
fameg =1 =97 wifem

AR (A) : T e 3 A A g e e A () & e g e v 5 e

fafirat fasfaa =t £ :
& (R) : e Fam @ e (s, AT fa # SRt e & T 8 el &
FAAFA UH faverqu] 1§ F Fied €|
(1) Fad (A) & 2 o
(2) <9 (R) Wl ¥ -

(3) (A) 3 (R) 31 wél ¥ aen {ﬁ},{-‘m ! Hel =
@) (A) 3 (R) i =& & g (g};{_ﬂm =t [et =aTE T T

Which of the following may be u;st::c:f to denote democracy ?
(a) People are equal and free

(b) People are wealthy and prosperous

(c) People resolve conflicts in a better way than others
(d) Government is more accountable and rational

Choose the correct option :

(1) (b), (c) and (d) (2 () and(d)

(3) (a)and (b) v’ (4)  (a) (b) and ()
maﬁwﬁﬁqﬁnﬁmﬂﬁﬁﬁﬁmmfmmmmt?
(a) @ HuA S wEEa 0

(b) @mudsieEEERE
() i W w1 gEd F1 qEn A AR i § G
(d) maﬁ:ﬂ?w&ﬁaﬂtaﬁ?ﬁ@%l

Wi faseq &1 999 FL
(1) (b), (c) 91 (d) (2) (b) 9% (d)
(3) (a) 991 (b) (4) (a), (b) 740 ()
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Match the following and choose the appropriate option -

Indicators of assessmenl Skills/Abilitics
(a) [scussion (1) 5“"-‘_"'“"'“}' towards differently abled, showing concern for
environment
(b) Observation (i) Making logical connections
(¢} Normative concerns (iii) Reporting, narrating, picture-reading, and drawing
(d) Explanation (iv) Listening, expressing opinions and finding out from others

(1) (a)-(iv), (b)-(iid), (c)-(id), (d)-(i)
(2)  (a)-(ii), (b)-(iii), (c)-(iv), (cd)-(3)
(3)  (@)-(v), (b)-(ii), (c)-(1). (d)-(i1)
(4)  (a)(iv), (b)-(ii), {c)-(i), (d)-(iii)
1 fau wiomi =1 faem #1773y e 96

ATHE & Gehridh TqrrgATd / (R
(a) = (i)  Tomr spma ¥ wia Haeeierd, WA= F 9 (= wafia o
(b) FEATFA (iiy i TEY =
(c) Fram wawn (i) Feaifén, avm, fa9-w2a ot smaEm
(d) TR (iv) G-I, T =99 0 o gET | 9@

(1) (@)-(iv), (b)-(iii), (c)-(i). (d)-(1)
(2)  (a)-(ii), (b)-(iii). {c)-(iv). (d)-(1)
(3)  (a)-(iv), (b)-(iii), (c)-(i). (d)-(i])
(4)  (a)-(iv), (b)-(ii), (c)-(i), (d)-(ui1)

Lata sells tea at 5,00 am. She then goes to fetch water from a far away well. After reaching home
she cooks food, washes clothes, cleans the house, sweeps and then goes off to purchase items for
her tea shop. All this can be referred to as :

(1) Housework (2) Paid work (3) Care giving (4) Double burden

ﬁ'—ﬁgﬂﬁﬁ'ﬁﬁ&aﬁl%lmﬁﬁaﬁaﬁﬂgag@iﬁwémaﬁhmuﬁaﬁ#mwmm
ﬁ.m‘g*hﬁ%,maﬁmm%,m-ﬁmm%mﬁ?wamazazﬁamaﬂgmﬁéﬁfmnmﬂ
iz &7 @M &1 g9 7R FE) 6w o wwa € -\ |

(2) T FA (3) 2EvE wm (4) AR

54 K
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78. The Constitution determines the relationship among people living in a territory called citizen and

also

(i ]

R T

(1) relationship among people and BOyernment

(2) relationship among nEighbﬂurh‘ig_ countries and government

(3) relationship among, people anc{i:;rporntes

(4) relationship among neighbourthg tountries

WA T 43§ @ A A A s G day fuifa s s aw W
favifa = &1

(1) @i AR TR F = Hay
(2) e 2 i TR ¥ e e

|
-

() iR F e gEy o

=
2
-

(4) USE <90 & 99 gEy *:
N

79. The National Medical Commission’s Code of Medical Ethics states that every physician should, as
far as possible, prescribe drugs which are called :

(1) Generic medicines (((2) Ancient remedies
0
(3) Genetic medicines [4) Global brands

Tt fafem s =1 fafhen SR Fiew 580 T R : w9 fafres w1, o 9% gya @, 39 sl

F1 Fauiifea o wfee S Fwe@ € L

-J
(1) S zadal -fitz} WA ITER
(3) @rEfers zaral (4) AfEs ate

PAL A 5 s



80.

81.

P-1I (IR W Enn 56

TR,

A large number of people in rural India who are landless, although their main livelihood SOurce ;
agriculture are called as : 15

(a) Marginal farmers (b) Migrant labourers

(c) Agricultural labourers (d) Small farmers

Choose the correct option :

(1) (a), (b) and (c) only (2)  (b), (c) and (d) only
(3) (a) and (b) only (4)  (b) and (c) only

YT RE H U 99 G § S @ yfites € Sefs 31 sifas #1 9@ ' F56 €, FEe §
(a) wraid fehem (b) waTdt gt Teg

(c) T Ty (d) @I feham

W& fawe &1 997 F)

(1) %9 (a), (b) 3 (0) (2) A (b), (c)-3 (d)

(3) A (a) 3 (b) (4) = (b) HR(c)

Which of the following resources are relevant to discuss the theme “discrimination’ ?

(1) Narrative of B.R. Ambedkar’s experiences of looking for a place to stay after returning to
India.

(2) Advertisement of a woman washing clothes in a commercial.

(3) Text of Ashokan inscriptions.

(4) Universal Declaration of Human Rights.
g faren e e % for, Frfatad & @ # w wEee W §
(1) W3R HASH & WA AIZT F 970 @A od ©F Ger & AT9El F gaid
(2) U fam d F92 W gu Afeen w1 9T

(3) e F sfveral &1 fafy

(4) THEATHEHR] &1 Afvees HEon



82.

P mmmmme

cher ivi
:i t;abe tI-“;-wrll:: rl:;:lmwde 30 students of her class in small groups for a task on diversity. Which
most relevant way to make small groups of students 7

(1)  According to students marks in last exam from high to low

(2) Heterogenous random groups based on a game

(3) As per students comfort ’

(4) Benchwise from front to back 2

fafarren foet o 01 23 3 s srmftr s s & 30 fagfal F1 B-P1 THE F w0 @ &
freafefan o age ffn 1 391wt gad sfaq am ? ,—f;_"'

() forfeial & froch wan & s siei Howa wa A (T

(@) fo agfes e 9 e ae w antmd

(3) Teenfel =t gfauman 1
(4) ¥ H S F F0 T F31 F 0 F AR

Which of the following provide scope to develop critical thinking skills ?

(a) What role did the Yamuna play in the layout of the Mughal city at Shahjanabad ?

(b) What is the purpose of press conference ? How "Eir.:le{; the press conference help you get
information on what the government is doing ? -/~

(¢) Differentiate markets with illustrative examples. I,ﬂ

(d) It is necessary for the civil servants to be pnlitically;"ﬁ:éjutral. Explain.

(e) Availability of water is a major factor affecting I:he{ ﬁement pattern. Discuss.

Choose the correct option : -~
(1) Only (a), (b), (d) and (e) (2) Only (a), (€)(d) and (e)
(3) Only (a). (b), (c) and (d) (4) Only (b), (c). (d) and (e)

frefafas § @ S e fHa Foa 5 fasfie 63 5 ST w©wE S 802
(a) VESRAER § e e FAR A A A F ffeam Frg 2
g i & = wAeE 7 AR 0w TR T W gE oW $9 ¥ UG a6 F9 (R 9eR)

(b)
ST FETA A € 2 (O
(c) fresit sarereil & are AR A ST RIS oD
(d) ﬁﬁi-mﬁ?fﬁﬁﬂﬁm%ﬁ?ﬂﬁﬂﬂm#ﬁﬁmaimﬁl

(e)
[l faweq &1 799 H1 |

Gﬂaﬂwaﬁﬂgﬁﬁqaﬁﬂmﬁﬂaﬂﬁﬂﬁgﬁ:m%l ==t e

N

(1) ¥ (a), (b), (d) 3 (e) (2) Fa (a), u:.;}:';@i; 3R (e)
(3) &= (a), (b), (c) FR (d) (4) 4 (b), (c), (d) 3R (o)
57 K
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84,

85.

86.

Fundamental Rights and Duties of Indian Constitution are written on the walls of social sciencg
. = = el - .
classroom. This will make children learn primarily through

(1)  Memorisation  (2)  Reasoning (3) Observation (4) Imagination
FE Fo T AN W WEEE SfaaE H I5ga Ao A s wae F1 feran T E ) TE T R
qed: % g foam

(1) =" F 2) & (8) T (4) T

Which method would you use to collect information about the actual and correct status o
earthquake victims in vour area ?

(1) Project method (2)  Problem-solving method

(3)  Inquiry method (4) Survey method

(1) e fafy (2) wEE-HEE faf
(3) WeEE/ YA fafy (4) wdam fafy

F

According to Indian Constitution this kind of reservation is.nét a violation of the right to equality.

(1) To ensure jobs based on nepotism.,

(2)  To give jobs to close kith and kin of political leaders.

(3) To give special treatment to someone in order to ensure equal opportunity.

(4) To ensure jobs to people from States where an elechi;d representive or Minister comes from.
YITAT HfEGHMA F A0 560 Th F mmm%ﬁmmaﬁm#ﬁ%;

(1) - wETsmEeE F AT W IR g w0

(2) T F i weEne H At

(3) W ST i v 3 fer el 35 T I SR A

(4) To= Tl | wfafafy @ o= Sre sma € 37 o5 & @n @ St

K
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Read the Asserti : f = . : ;
> following : rion (A) and Reason (R) statements carefully and choose the correct option of the

Assertion (A) : Values can be taught, too.

Reason (R) : Social studies is a subject through which 11 basic values can be taught.
(1)  (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are correct and (R) explains.(A).

(4) Both (A) and (R) are correct but (R) does not j.'xpiﬂm (A).

mimﬁnmm}m’rmmﬁqﬁamﬁq@fmqunﬁfaﬂﬂﬁm
ahere (A): A g R f e w E

H (R) : AT T e fr & fari s srog e TE 1 HE €
(1) (A) T ® g (R) 3 71

(2)  (A) Tl (R) 1 3w ¥

(3)  (A) 3 (R) AT W ¥ 3 (A) F (R) N FH E

@) iAlﬁRm}ﬁaﬂﬁmwaﬁm}maﬁmtr

-.L,.

1.»;—---

88. Which of the following should be considered aq_'g_e}'nder neutral atmosphere in a school ?
(a) A group of girls are making Rangoli o
(b) A group of boys are volunteering in axmufal function.
(c) A group of girls are preparing for dance Eﬁ’;ﬁ{j}:etilinn.
(d) A group of boys are arranging refreshments for guests.

Choose the correct option :

(1) (a) and (c) (2) (b)and (d) (3) (a)and (b) (4)  (b) and (c)
frifefaa & & wm-a feafy e faaeg & ﬁﬂlmmmmgj

(a) TrEfE % wH WE G M A I
(b) AT % BYE G AR H HEE FT '-.i.'__."-

() m#wﬁmjﬁmﬁmﬁmamj

(d) aﬁ%wmaﬁﬁm#ﬁqwﬁamm

T fawew &1 999 11 )
(1) (a) 741 (c) (2) (b)aHI(d) (3) (a) T (b) (4) (b)Y (c)
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890 A\ Sovial Science teacher asked students to make rules for their class. These were then wrig
4 chart paper. All the students gave their consent to follow these, The chart paper was PBS':B“ b
class, so that it can be referred by the students. This can be an introductory achivity for 'rvhil-ﬁ
the following topics ? b
(1) Democracy (2) Markets (3)  Diversity (4)  Marginalisation

A A @1 fufes a= #1 39 Fan % T fom 5 s 2 ﬂhﬁﬁmwmﬁmm
fora s & 1wt == 37 Fradi ¥ wier #1 gewt & ¥ %ﬁmﬁﬁmhmﬁ,mmﬁ

Heol & R w w0 o e m%ﬁfwﬁﬁmﬂﬂmmaﬁmﬂ%ﬂmﬁaﬂﬁﬁm%mﬁ
fiern < wea ¥ 7

(1) WA (2) HER (3) fafawm (4) e

90. The purpose of diagnostic evaluation is to :
(a) obtain information about learner’s characters
(b)  get to know about the knowledge students already possess
(c) classify learners into catEgt_JﬁE'ﬂ
(d) to assess the learners |

Choose the correct option :

(1)  (d) and (c) (2) (a) and (b)
(3) (a), (b) and (c) (4)  (b). (c) and (d)

(a) ﬁﬂﬁﬁﬁ#ﬂﬁvﬁ%aﬂﬁmmm
(b) faeniedai % yd 9@ & A § s
© e =) Sfordi & e e
(d) faenfddi 1 sfen :
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